

1 ADVOCATES FOR FAITH & FREEDOM
Robert H. Tyler (SBN 179572)
2 btyler@faith-freedom.com
Julianne Fleischer (SBN 337006)
3 jfleischer@faith-freedom.com
4 25026 Las Brisas Road
Murrieta, California 92562
5 Telephone: (951) 304-7583

6 Attorneys for Attorneys for Respondent/Defendant **Mercy Peña**

7
8 **SUPERIOR COURT OF THE STATE OF CALIFORNIA**
9 **FOR THE COUNTY OF KERN**

10
11 JENNIFER ESTRADA,
12 Petitioner/Contestant
13 v.
14 MERCY PEÑA
15 Respondent/Defendant

Case No.: BCV-24-104155
Hon. Bernard C. Barmann, Jr.

**DECLARATION OF ROBERT TYLER IN
SUPPORT OF RESPONDENT/
DEFENDANT MERCY PEÑA'S MOTION
FOR ATTORNEYS' FEES**

Date: June 2, 2025
Time: 8:30 a.m.
Dept.: H

16
17 JENNIFER ESTRADA and GREENFIELD
18 UNION SCHOOL DISTRICT,
19 Petitioners
20 v.
21 KERN COUNTY ELECTIONS DIVISION,
22 Respondent

23 RICARDO HERRERA,
24 Real Party In Interest.
25
26
27
28





1 I, Robert Tyler, declare as follows:

2 1. I am an attorney and have been licensed by the California State Bar since 1995. I
3 graduated from the University of San Diego, School of Law in 1995. I graduated with a Bachelor of
4 Science in Business Administration from California State University, Fullerton in 1990.

5 2. I am admitted to practice in the California federal courts, the Ninth Circuit, Second
6 Circuit, and the United States Supreme Court.

7 3. I am lead counsel for Ms. Peña in the above-captioned proceeding.

8 4. I am the founder of Advocates for Faith & Freedom. Associates Julianne Fleischer,
9 Emma Plotnik, and Samuel Kane are associates at the firm.

10 5. As the senior attorney responsible for this litigation, I directed the course of the
11 litigation, and I supervised the work of the associates.

12 6. Advocates for Faith and Freedom took Ms. Peñas' case on a pro bono basis.

13 7. Our offices obtained a successful result for Ms. Peña, defending against all claims
14 brought by Petitioners as Ms. Peña's election was fully upheld by this Court.

15 8. I have been practicing law in civil litigation and appeals since approximately 1998.
16 I spent three years (2002-2005) working full-time for the public interest legal organization, Alliance
17 Defending Freedom, as a civil rights litigator. In 2005, I opened Tyler Law LLP, a private law
18 practice, and Advocates for Faith & Freedom, a public interest law firm. A major portion of my
19 practice has been focused on pro bono and fee-based public interest litigation, civil rights,
20 constitutional law, business litigation, and real estate litigation since the year 2002. I have litigated
21 numerous cases in the Central District of California.

22 9. I have been involved in numerous significant cases relating to public interest
23 litigation that resulted in published decisions.

24 10. In *Elsinore Christian Center v. City of Lake Elsinore*, while a Writ of Certiorari was
25 pending in the United States Supreme Court, I obtained a settlement in favor of the Elsinore
26 Christian Center in the amount of \$1,605,000 after a favorable ruling from the Ninth Circuit Federal
27 Court of Appeal (*Elsinore Christian Center v. City of Lake Elsinore* (9th Cir. 2006) No. 04-55320,
28 2006 WL 2456271) (unpublished opinion) (reversed district court - City's argument that RLUIPA



1 is unconstitutional was rejected). This case also played a strategic role in the Ninth Circuit’s decision
2 to uphold the constitutionality of the federal Religious Land Use and Institutionalized Person’s Act
3 (RLUIPA), which was passed by Congress and signed by President Clinton in 2000. The federal
4 district court’s opinion was one of the first to positively interpret RLUIPA in favor of religious
5 institutions and has been cited over 173 times. (*Elsinore Christian Ctr. v. City of Lake Elsinore*
6 (C.D. Cal. 2003) 291 F. Supp. 2d 1083.)

7 11. Additional cases include: (*Mackey v. Meyer* (9th Cir. 2017) 675 F.App’x 705)
8 (prevailing in a free speech case for person reading Bible on state property); (*C.F., et al. v.*
9 *Capistrano Unified School District, et al.* (C.D.Cal. 2009) 615 F. Supp. 2d 1137) (establishing a
10 teacher's in-class assertion that creationism was superstitious nonsense violated Establishment
11 Clause); (*Barlow v. Superior Court of California, County of San Diego* (S.D. Cal. 2008) No.
12 07cv1926-LAB(LSP), 2008 WL 4079285) (denying a motion to dismiss in an action based on
13 Establishment Clause, Free Exercise Clause and the Equal Protection Clause); and (*Berry v. Berry*
14 (Cal. Ct. App. Mar. 18, 2014) No. D062914, 2014 WL 1028887) (awarding a motion for attorneys’
15 fees); *People v. Calvary Chapel San Jose*, 298 Cal. Rptr. 3d 262 (Ct. App. 2022), *as modified on*
16 *denial of reh'g* (Sept. 7, 2022) (reversing \$33,000 sanctions order on the grounds the COVID-19
17 laws regulating indoor gathering sizes were unconstitutional); *UnifySCC v. Cody*, No. 22-CV-
18 01019-BLF, 2022 WL 2357068 (N.D. Cal. June 30, 2022) (granting partial injunction against the
19 County of Santa Clara’s vaccine mandate on the grounds it violated the First Amendment).

20 12. I am also the co-author of the law review article titled The Application Prior
21 Restraint: An Alternative Doctrine for Religious Land Use Cases. (*Jennifer L. Monk and Robert H.*
22 *Tyler, The Application Prior Restraint: An Alternative Doctrine for Religious Land Use Cases*, 37
23 *U. Tol. L. Rev.* 747 (2006).

24 13. I directed and supervised the attorneys and assisted with brief writing in this present
25 case. I reviewed the billing in this case and the fees and time logged by me and my associates. As
26 the President, I set the rates charged by associates, paralegals, and assistants. I determined the rates
27 charges by my associates and staff members based on my own investigation into the markets rates
28 charged by other firms for people of similar experience and roles. I believe that the rates charged



1 below are very reasonable and below the market average charged by other comparable firms for
2 comparable individuals.

3 14. Based upon my skill sets and experience, my reasonable attorney rate is \$550.00 per
4 hour. I have determined this amount by comparing my fees to other attorneys with similar years of
5 experience who practice litigation in California courts. I believe my rate is more than reasonable.

6 15. I hired Julianne Fleischer as an associate attorney on approximately September 26,
7 2022. Prior to hiring this associate, I reviewed her resume and employment history. Associate
8 Fleischer is a 2020 graduate of Regent University School of Law where she was the Managing
9 Editor of the law review. She also completed externships with the U.S. District Court for the
10 Eastern District of Virginia, the Virginia Court of Appeals, and the U.S. Attorney's Office for
11 the Central District of California Prior to working with Advocates she worked as an attorney
12 advisor at the U.S. Department of Justice. Associate Fleischer is a licensed California attorney.

13 16. I hired Emma Plotnik as an associate attorney on approximately October 9, 2023.
14 Prior to hiring this associate, I reviewed her resume and employment history. Associate Plotnik is
15 a 2021 graduate of Regent University School of Law where she participated on the moot court board.
16 She currently works for Tyler Law LLP and, before that, she worked as an associate attorney at a
17 complex litigation firm, representing insurance carriers, private individuals, and businesses in a
18 variety of personal injury, catastrophic injury, real property, and construction defect matters,
19 including but not limited to, automobile liability, premises liability, trucking/transportation,
20 housing/habitability, trespass/nuisance issues, water rights/environmental law, and landslide
21 liability. Associate Plotnik is a licensed California attorney.

22 17. I hired Samuel Kane as an associate attorney on approximately August 14, 2024.
23 Prior to hiring this associate, I reviewed his resume and employment history. Associate Kane is a
24 2020 graduate of Regent University School of Law where he was as staff editor on the law review.
25 Prior to working with Advocates, he was a judicial law clerk for the Honorable Judge Roetman and
26 the Honorable Clinton Canady III, at the state circuit court level in Michigan. Following that he was
27 an associate at Vandevere Garzia, PC where he worked in insurance defense focusing on
28



1 catastrophic injury claims. Associate Kane works remotely and is licensed to practice law in
2 Michigan. He provides research and writing services to our organization.

3 18. I hired Susan Yvonne Kenney in 2016 as a paralegal. Prior to hiring Paralegal
4 Kenny, I reviewed her resume and employment history. She first began working in law firms in
5 1980 and began performing paralegal work in approximately 1994. She joined my firm as a
6 paralegal handling all aspects of a normal paralegal, inclusive of preparing and filing pleadings.

7 19. The normal billing practice of our firm is to bill clients for time expended on a quarter
8 hour basis. The normal billing rates for senior attorneys in our firm is \$550 per hour. The normal
9 billing rates for associates in our firm is \$300 to \$400 per hour. The normal billing rate for paralegals
10 in our firm is \$200 to \$275 per hour. We are requesting fees based on the following rates:

- 11 a. Robert Tyler \$550.00 per hour
- 12 b. Associate Fleischer \$350 per hour.
- 13 c. Associate Plotnik \$350 per hour.
- 14 d. Associate Kane \$350 per hour.
- 15 e. Paralegal Kenny \$200 per hour.

16 20. The above rates are within the range of the prevailing market rates for fee awards in
17 cases of this type.

18 21. I billed 29.1 hours, Attorney Fleischer billed 8.1 hours, Attorney Plotnik billed 1.3
19 hours, Attorney Kane billed 64.2 hours, and Paralegal Kenny billed 12 hours for this matter. Fees
20 are requested in the amount of \$44,165.00.

21 22. The time entries were contemporaneously kept, billing judgment was exercised, and,
22 in my opinion, the fees are reasonable considering the work performed and results achieved.

23 23. To prepare for this Motion for Attorneys' Fees, I reviewed the Firm's billing reports
24 that are maintained every day and entered concurrently with work being performed. Our firm
25 maintains the CLIO case management system for tracking all billing and litigation deadlines. I re-
26 viewed the billing entries for this matter and believe that the amount of time invested to litigate
27 this action and to obtain the favorable result was necessary and reasonable under the circumstances.
28 A true and correct copy of the itemized billing entries are attached hereto as Exhibit C.

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28

24. Attached hereto is as Exhibit A is a true and correct copy of the Amended Notice of Entry of Judgment and the Judgment, which I received from this Court, dated February 14, 2025.

25. Attached hereto is as Exhibit B is a true and correct copy of this Court’s ruling and order, which I received from this Court, dated February 7, 2025.

I declare under penalty of perjury under the laws of the State of California and the United States that the foregoing is true and correct. Executed on April 15, 2025, in the City of Murrieta, California.

DATED: April 15, 2025

ADVOCATES FOR FAITH & FREEDOM

Robert H. Tyler
Attorney for Respondent/Defendant **Mercy Peña**



EXHIBIT “A”



SUPERIOR COURT OF CALIFORNIA
 COUNTY OF KERN
 BAKERSFIELD COURT
 1215 TRUXTUN AVENUE
 BAKERSFIELD CA 93301

FOR COURT USE ONLY

FILED
 SUPERIOR COURT OF CALIFORNIA
 COUNTY OF KERN
 FEBRUARY 14, 2025
 BY Vickie Fogerson DEPUTY

PLAINTIFF/PETITIONER:
 GREENFIELD UNION SCHOOL DISTRICT
 JENNIFER ESTRADA
 DEFENDANT/RESPONDENT:
 KERN COUNTY ELECTIONS DIVISION
 MERCY PENA

AMENDED NOTICE OF ENTRY OF JUDGMENT

CASE NUMBER:
 BCV-24-104155

You are notified that judgment in this cause was entered on February 14, 2025.

TARA LEAL
 CLERK OF THE SUPERIOR COURT

Date: February 14, 2025

By: 
 Vickie Fogerson, Deputy Clerk Sgr06 2/14/2025 04:55 PM

CERTIFICATE OF SERVICE

The undersigned, of said Kern County, certify: That I am a Deputy Clerk of the Superior Court of the State of California, in and for the County of Kern, that I am a citizen of the United States, over 18 years of age, I reside in or am employed in the County of Kern, that I am not a party to the within action and that my business address is 1215 Truxtun Avenue Bakersfield CA 93301, that I served **Amended Notice of Entry of Judgment** attached hereto on all interested parties and any respective counsel of record in the within action, following standard Court practices, by: (a) enclosing true copies thereof in a sealed envelope(s) with postage fully prepaid and depositing/placing for collection and delivery in the United States mail at Bakersfield, California; and/or (b) enclosing true copies thereof in a Kern County interoffice envelope(s) and placing for collection and delivery; and/or (c) by posting true copies thereof, to the Superior Court of California, County of Kern, Non-Criminal Case Information Portal (www.kern.courts.ca.gov); and/or (d) electronically transmitting true copies thereof by electronic service or e-mail. Service address(es) are indicated on the attached service list.

Date of Service: February 14, 2025

Place of Service: Bakersfield, CA

Sent from electronic service address: donotreply@kern.courts.ca.gov

I declare under penalty of perjury under the laws of the State of California that the foregoing is true and correct.

TARA LEAL
CLERK OF THE SUPERIOR COURT

Date: February 14, 2025

By:



Vickie Fogerson, Deputy Clerk

Signed: 2/14/2025 04:56 PM

SERVICE LIST

STEVEN L SIMAS
SIMAS & ASSOCIATES LTD
7355 MORRO ROAD SUITE 101
ATASCADERO CA 93422
ssimas@simasgovlaw.com

RYAN KEEVER
SIMAS & ASSOCIATES LTD
7355 MORRO ROAD SUITE 101
ATASCADERO CA 93422
rkeever@simasgovlaw.com

FRANCISCA HEREDIA
SIMAS & ASSOCIATES LTD
7355 MORRO ROAD SUITE 101
ATASCADERO CA 93422
fheredia@simasgovlaw.com

ANDREW C HAMILTON
KERN COUNTY ADMINISTRATIVE CENTER
1115 TRUXTUN AVE 4FL
BAKERSFIELD CA 93301-4629
ahamilton@kerncounty.com

ROBERT H TYLER
TYLER & DORSA
41877 ENTERPRISE CIR N #210
TEMECULA CA 92590
btyler@faith-freedom.com

1 The election contest portion of this action came on regularly for trial in Division H
2 before Judge Bernard C. Barmann, Jr. on the 31st day of January 2025.

3 The parties appeared through their attorneys, Steven L. Simas, as counsel for
4 Petitioner/Contestant Jennifer Estrada and Petitioner Greenfield Union School District,
5 Robert H. Tyler, as counsel for Respondent/Defendant Mercy Pena, and Andrew C.
6 Hamilton as counsel for Kern County Elections Division.

7 The Court announced its ruling via minute order on February 7, 2025.

8 NOW, THEREFORE, IT IS ADJUDGED, ORDERED, AND DECREED, that
9 Judgment be entered confirming the election.
10

11
12
13 Dated: February 14, 2025


14 Hon. Bernard C. Barmann, Jr.
15 Judge of the Superior Court
16
17
18
19
20
21
22
23
24
25
26
27
28

EXHIBIT “B”



Superior Court of California
County of Kern

Date: 02/07/2025

Time: 8:00 AM - 5:00 PM

BCV-24-104155

GREENFIELD UNION SCHOOL DISTRICT VS KERN COUNTY ELECTIONS DIVISION

Courtroom Staff

Honorable: Bernard C. Barmann, Jr.

Clerk: Veronica Urena

**NATURE OF PROCEEDINGS: RULING RE: SECOND AMENDED PETITION FOR WRIT OF ORDINARY MANDATE;
COMPLAINT FOR DECLARATORY RELIEF AND PETITIONER/CONTESTANT'S STATEMENT OF ELECTION CONTEST
HERETOFORE TAKEN UNDER SUBMISSION ON JANUARY 31, 2025, INCLUDING FINDINGS OF FACT AND
CONCLUSIONS OF LAW**

The Court makes the following findings and orders:

See attached ruling incorporated hereto and made a part hereof.

Copy of minute order sent based on Certificate of Service.

FUTURE HEARINGS:

February 14, 2025 8:30 AM Case Management Conference
Bakersfield Division H
Barmann, Bernard C., Jr.

RULING
Page 1 of 18

GREENFIELD UNION SCHOOL DISTRICT VS KERN COUNTY ELECTIONS
DIVISION

BCV-24-104155

Greenfield Union School District, et al. v. Kern County Elections Division, et al.

BCV-24-104155

Ruling on matter submitted January 31, 2025, including Findings of Fact and Conclusions of Law

Election Contest pursuant to Elections Code §§16100 et seq.

The Court does not intend the following analysis, facts, and history to be a Statement of Decision by the Court, but they are recited merely to give context to this ruling.

No Statement of Decision will be prepared as no party requested a statement of decision and specified the principal controverted issues to be addressed before the matter was submitted for decision and the trial concluded within one calendar day. (CCP § 632; Cal Rules of Ct 3.1590(n).)

INTRODUCTION

This case arises from a mistake by elections officials that resulted in up to 67 ballots being cast illegally in an election. The facts of the case are not in dispute. What is in dispute is whether, under California law, the election should be annulled or confirmed.

Petitioner/Contestant Jennifer Estrada and Petitioner Greenfield Union School District (“GUSD” or “District”) ask the Court to annul a school board election that was held in the General Election on November 5, 2024, and administered by Respondent Kern County Elections Division (“County” or “Elections Division”), in accordance with Elections Code. On December 3, 2024, the County advised GUSD that the Elections Division had mailed out ballots that allowed voters who reside in Trustee Area D of GUSD to improperly and unlawfully vote in Trustee Area C of the GUSD. The County certified the election results on December 5, 2024, notwithstanding that error. As a result of the certification of the election results, and as required by law, Petitioner GUSD seated Respondent/Defendant Mercy Peña to the District’s Board of Trustees at their statutorily mandated organizational meeting held on December 18, 2024.

According to the County, 124 ballots were mistakenly sent to persons residing in Trustee Area D to vote in the Trustee Area C election, and 67 of those ballots were returned. 2,016 votes were counted in this particular election. Because of the way ballots are processed, however, it is now impossible to determine which of those 67 illegal ballots actually included votes cast in the particular election at issue. It is also impossible to determine for which candidate any of those ballots were cast. The election was decided by a margin of 8 votes, with Mercy Peña receiving 1,012 votes and Ricardo Herrera receiving 1,004 votes. No party disputes these facts.

Petitioners and the Contestant contend that annulling the election is the only option because it appears impossible to cure the 67 illegal ballots cast by voters from Trustee Area D in the election for Trustee Area C, and because curing those illegal votes would not address the fact that they should not be counted towards the result in the first place. They contend that, as matters currently stand, many of the District’s constituents have been disenfranchised and the District’s Board is forced to operate without knowing the true outcome of the District Area C Trustee

election. They further contend that the County's actions have cast doubt upon District's operations and whether Ms. Peña was properly elected, and adversely impacted the District, both candidates, and local families and children and the community as a whole.

GUSD has represented to the Court that if the election is annulled the District will leave the District Trustee Area C seat vacant for the remainder of the year, until an election can be held in November 2025.

Respondent/Defendant Peña contends that Petitioners and the Contestant have not satisfied their burden of proof regarding annulment under Elections Code section 16203. That statute provides as follows:

An election shall not be set aside on account of illegal votes, unless it appears that a number of illegal votes has been given to the person whose right to the office is contested or who has been certified as having tied for first place, which, if taken from him, would reduce the number of his legal votes below the number of votes given to some other person for the same office, after deducting therefrom the illegal votes which may be shown to have been given to that other person.

(Elec. Code § 16203). Ms. Peña contends that there is insufficient evidence for the Court to conclude that “it appears that a number of illegal votes has been given to [Ms. Peña] which, if taken from [her], would reduce the number of [her] legal votes below the number of votes given to [Mr. Herrera], after deducting therefrom the illegal votes which may be shown to have been given to [Mr. Herrera].” Ms. Peña further contends that there is insufficient evidence for the Court to conclude that the illegal votes “appear” to have affected the outcome of the election. (See *Gooch v. Hendrix* (1993) 5 Cal.4th 266, 282-283.)

PROCEDURAL HISTORY

This case was commenced on December 4, 2024, when GUSD filed a Petition for Writ of Ordinary Mandate and Request for Stay and/or Preliminary Injunction and Complaint for Declaratory Relief against the Elections Division. GUSD sought, among other things, a writ of ordinary mandate under Code of Civil Procedure section 1085, directed to the Elections Division compelling it to correct the alleged legal defects in the election and improper attributing of votes from Trustee Area D prior to certifying the election results, and preventing it from certifying election results, a declaratory judgment regarding the duties of the Elections Division, and a temporary restraining order and preliminary injunction against the Elections Division enjoining them from certifying the election results on December 5, 2024, until the votes comply with the law.

Also on December 4, 2024, at 5:14 p.m., GUSD filed an ex parte application for a stay, temporary restraining order and order to show cause why a preliminary injunction should not issue. GUSD served notice of the ex parte application on the morning of December 5, 2024, with

the hearing noticed for December 6, 2024, at 8:30 a.m. in Division H of this Court. Also on December 5, 2024, shortly after noon, the County filed an opposition to the ex parte application, noting that the County's deadline for certifying the election was that same day and arguing that GUSD lacks standing to contest the subject election, that the County has no discretion delay certification, and that the County could not, as a practical matter, provide the relief requested because the illegally cast votes are indistinguishable from valid votes.

On December 6, 2024, this Court heard GUSD's ex parte application and denied the application without prejudice to a future application because, as both sides agreed, the County had certified the election the day before. The application for a TRO to block the certification was, in this Court's view, moot.

GUSD thereafter filed amended pleadings, the last of which was filed on December 20, 2024, and captioned as Second Amended Petition for Writ of Ordinary Mandate; Complaint for Declaratory Relief; and Petitioner/Contestant's Statement of Election Contest. This pleading asserted claims for relief on behalf of GUSD as well as Jennifer Estrada, and named additional parties Mercy Peña as a Respondent/Defendant and Ricardo Herrera as a Respondent. Ms. Estrada requested that this Court to issue an order annulling and setting aside the election of Respondent Mercy Peña to the Board of Trustees, Area C, of GUSD pursuant to Elections Code sections 16100(d), 16400, 16403, and 16500. Ms. Estrada also asked this Court to issue a writ of ordinary mandate pursuant to California Code of Civil Procedure Section 1085, and issue a declaratory judgment under California Code of Civil Procedure Section 1060 directing the Elections Division to set aside its December 5, 2024 certification of the November 2024 election, on the Grounds set forth in Elections Code section 16100(d) that "illegal votes were cast" in the election for Board of Trustees of GUSD, and based upon Respondent Election Division mistakenly sending 108 ballots to the incorrect residential district or area for the District's Board of Trustees election. The County filed an Answer to this pleading on December 23, 2024, admitting certain allegations, denying certain allegations, and asserting affirmative defenses.

On January 8, 2025, Petitioners filed an ex parte application requesting an expedited hearing on the Second Amended Petition. On January 9, 2025, the County filed a notice of "non-opposition" to the ex parte application, advising that the County did not object to an expedited hearing so long as it is held on a date when their counsel is available, and arguing that GUSD lacks standing and that the County is only a real party in interest. The County summarized the proceedings up to that point as follows:

This action was originally brought as a writ of mandate against the Respondent Kern County Elections Division (an improper defendant) by the Petitioner Greenfield Union School District (which lacked standing) to improperly halt the mandatory certification of election results. After multiple amendments, this action has morphed into an election contest between the proper parties, Contestant Jennifer Estrada and Defendant Mercy Peña. Greenfield USD has not let the County out of this matter, even though it has no role except as a real party of interest.

The court conducted a hearing on the ex parte application on January 10, 2025, and continued the matter to January 14, 2025. Petitioners submitted supplemental briefing on January 13, 2025. Also on January 13, 2025, Respondent/Defendant Mercy Peña submitted a response to the Second Amended Petition.

On January 14, 2025, the Court conducted a further hearing on the ex parte application for an expedited hearing. After conferring with counsel, the Court set the hearing on the election contest aspect of this case for January 31, 2025, at 1:30 p.m. in Division H. Counsel for Ms. Peña waived the requirements under Elections Code section 16501 that a citation be issued to Respondent Peña. The Court authorized Ms. Peña to file a supplemental brief and the other parties to file replies in advance of the January 31, 2025 hearing. The Court directed counsel for Petitioner to provide Ms. Peña's counsel with a copy of filings in this case. The Court also directed counsel for Kern County Elections Division to provide all parties by January 16, 2025, with a list identifying the 108 ballots mailed out improperly and a list of identifying information for the 57 ballots returned.

On January 21, 2025, Mercy Peña filed an Answer to the Second Amended Petition. On January 28, 2025, Petitioners filed a Reply in opposition to Ms. Peña's Answer.

The election contest came on for hearing before this Court on Friday, January 31, 2025. Ms. Peña was present in court. Her attorney, Mr. Tyler, was present via CourtCall video. Petitioners and the Contestant were represented by Mr. Simas, who also participated via CourtCall video. No court reporter was present to report the proceedings. No witnesses were called. The Court considered all the papers submitted by the parties. The Court heard the proofs and allegations of the parties as well as the arguments of counsel and thereafter took the matter under submission.

Pursuant to Elections Code section 16603, the Court is required to file its findings of fact and conclusions of law within 10 days after submission of the matter and immediately thereafter pronounce judgment "either confirming or annulling and setting aside the election." (Elec. Code § 16603.) Below are the Court's findings of act and conclusions of law, followed by a pronouncement of its judgment.

FINDINGS OF FACT

The facts are not in dispute.

Parties.

1. Petitioner/Contestant Jennifer Estrada is a resident of Bakersfield, California, a voter in that jurisdiction, and a qualified elector in District Trustee Area C of the GUSD who cast her vote in the November 5, 2024 election.

2. Petitioner GUSD is a public school district located within Kern County and governed by a Board of Trustees elected by the public. Petitioner GUSD administers nine elementary schools, three middle schools, and one community school, and serves approximately 9,000 students.

3. The District adopted a resolution whereby its Board of Trustees are elected by the residents of each Trustee Area, consistent with the Education Code. Specifically, on August 24, 2011, pursuant to Education Code 5019(c) and 5030(b), the Board of Trustees of the GUSD approved Resolution 12-1, which changed its system for electing trustees or governing board members from an “at-large” district to a “by-trustee” district. (See Superintendent Hendrix Decl., Jan. 8, 2025, ¶ 3 & Exh. A thereto.)

4. Respondent Kern County Elections Division is a division within Kern County charged with administering and certifying elections and results pursuant to Elections Code section 15372.

5. Respondent/Defendant Mercy Peña is the Trustee for Area C, who was sworn in on December 18, 2024, based upon the requirements of Education Code section 35143, which requires the District to conduct an organizational board meeting within a fifteen-day period that commences with the second Friday in December following the regular election.

6. Real Party in Interest Ricardo Herrera is the former incumbent Board of Trustees member for District Trustee Area C who ran against Respondent Ms. Peña in the election for District Trustee for Area C on the November 5, 2024, ballot.

The Candidates and the Election.

7. In 2016, GUSD Trustee Area C voters elected Ricardo Herrera as the Trustee for Area C of the District. He has served continually and been reelected since that time. Mr. Herrera ran for reelection in the recent November 5, 2024, election against Ms. Peña for the District Trustee Area C position. (Hendrix Decl., ¶ 4.)

8. On December 3, 2024, Petitioner GUSD became aware that Respondent Elections Division discovered “108 voters were assigned to the wrong trustee area in the District Area C race and were incorrectly allowed to vote in that race. All affected voters should have assigned to Trustee Area D.” (Auffant Decl., Dec. 4, 2024, ¶ 5.)

9. With the incorrect Trustee Area D ballots included in the tally, Ms. Peña won the election for Trustee Area C by 8 votes over incumbent Mr. Herrera. (Hendrix Decl., ¶ 5.)

10. Citing the Elections Code section 15372 deadline to certify the results by December 5, 2024, Respondent Elections Division certified the election results for Petitioner GUSD’s governing board. (*Id.*, ¶ 6.)

11. Per the District’s bylaws, the District is required to seat the certified winner of the election at an organizational meeting following the certification of a new Trustee election. (*Id.*, ¶ 9.) Accordingly, following the certification of the election results, GUSD seated the County-certified winner, Ms. Peña and replaced Mr. Herrera at its December 18, 2024, Board meeting. (*Id.*, ¶ 10.)

12. The only evidence regarding the election process supplied to the Court in this case is found in two Declarations by Elections Process Coordinator Jennifer Lozano of the County Elections Division. The first Declaration is dated January 10, 2025, and alleged the County improperly mailed 108 ballots to voters in the Trustee D Area, and 57 were returned. (Lozano Decl., Jan. 10, 2025, ¶¶ 2-3; Supp. Lozano Decl., Jan. 15, 2025, ¶ 3.) Ms. Lozano's analysis was based on the County's initial review of the mailing error. (*Id.*) Following an earlier hearing in this matter, the County updated the number of illegal ballots cast. In her Supplemental Declaration dated January 15, 2025, Ms. Lozano discovered upon subsequent review that 124 ballots were sent to voters in Trustee Area D and that 67 illegal votes were returned:

In total, 124 voters remained in Trustee Area C which should have been moved to Trustee Area D. A ballot was sent out to each of those 124 voters improperly allowing them to vote in the Trustee Area C election. Out of those 124 ballots, 67 ballot envelopes were returned. However, once a ballot is removed from an envelope, it cannot be traced to the voter and remains anonymous. It cannot be determined that each of those 67 ballots voted in the Trustee Area C election; only that the ballot was returned.

(Supp. Lozano Decl., ¶ 4.) Per the Court's request that the County provide a list of the reported 108 voters to whom ballots were improperly provided, Ms. Lozano submitted a supplemental declaration and a list of the 124 (up from the original 108) Trustee Area D voters who received the incorrect Trustee Area C ballots. (*Id.*, ¶ 6 & Ex. A.)

13. The details of what happened in the election, are as follows:

- a. An error occurred while processing ballots for the Greenfield Union School District Trustee Area C election. The boundary between Trustee Area C and Trustee Area D changed prior to the General Election. Following the change in the boundary, homes in Trustee Area C were moved to Trustee Area D in the County's election management system. However, certain homes which should have been moved in the County's election management system to Trustee Area D remained in Trustee Area C. (Lozano Decl. dated January 15, 2025, ¶ 2).
- b. It appears the error occurred in part because the updated Geographic Informational Services (GIS) used by the Elections Division was not keyed correctly into the Election Management System. In total, 108 voters remained in Trustee Area C which should have been moved to Trustee Area D. A ballot was sent out to each of those 108 voters improperly allowing them to vote in the Trustee Area C election. (*Id.* at ¶ 2).
- c. The records were reviewed, and it was confirmed that all 108 of the improper ballots were sent to voters. Out of those 108 ballots, 57 ballot envelopes were returned. However, once a ballot is removed from an envelope, it cannot be traced

to the voter and remains anonymous. It cannot be determined that each of those 57 ballots voted in the Trustee Area C election; only that the ballot was returned. (*Id.* at ¶ 4).

- d. On January 14, 2025, Ms. Lozano re-reviewed the voter list to provide the requested list of voters and the County revised its numbers. She noted that there were 124 ballots improperly mailed to the Trustee Area C voters and that 67 ballots were returned. (*Id.* at ¶¶ 3-4).
- e. She again confirmed that “It cannot be determined that each of those 67 ballots voted in the Trustee Area C election; only that the ballot was returned.” (*Id.* at ¶ 4).
- f. In the Greenfield Union School District Trustee Area C election, there were 2016 total votes cast. Mercy Peña received 1012 votes and Ricardo Herrera received 1004 votes. (Lozano Decl. dated January 10, 2025, ¶ 5; Supp. Lozano Decl. dated January 15, 2025, ¶ 5).

14. The Court finds that 67 people residing in Trustee Area D returned ballots with the Trustee Area C election on the ballot, but it is impossible to tell whether each of those 67 voters actually voted in the Trustee Area C election or for whom they voted.

15. There is no evidence, or even suggestion by anyone, that either of the two candidates or people associated with them had any involvement in the error affecting this election. Neither candidate engaged in any misconduct or is otherwise responsible for the current situation.

16. The illegal votes are the result of an error by the County and not the result of any fraud or other intentional violation of the law.

17. The only evidence submitted to the court that sheds any light on how any of those 67 votes were cast are submissions by the District and Ms. Peña regarding their respective post-election investigations. Petitioner GUSD retained private investigator A. Ace Pierce who attempted to interview all 67 voters from District D who voted in the Greenfield Union School District Board of Trustee Election, District Area C election to determine who they voted for. (Petitioner/Contestant Estrada’s and Petitioner GUSD’s Reply in Opposition to Respondent/Defendant Pena’s Answer Brief, Ex. F (All Pro Investigations report).) Of the 67 voters he reached out to, he was only able to obtain declarations from five of them attesting to how they voted in the election. His report indicates the reasons given for not giving an answer, which includes not being home, not remembering who they voted for, being bedridden and unavailable, moving to Texas, and being incarcerated, among others. Of those five declarations Mr. Pierce obtained, two of them voted for Ms. Peña, one voted for Mr. Herrera, one voted for “the democratic party,” and the last voted for “the republican party.” Neither candidate in this election was affiliated with a major party, so this offers no meaningful information as to for

whom these last two voters actually voted. In Ms. Peña’s brief, she describes her attempt to cure votes, wherein she called each of the 67 voters from District Area D who voted in the District Area C election. She did not obtain a single answer from any of the voters as to who they voted for in the election.

18. Recounting votes in this case would be impossible and futile, and calling the 67 people who returned the improper ballots as witnesses in a trial, as Ms. Peña suggests, would be a waste of time, not to mention likely an invasion of privacy and harassing. The results of Petitioner GUSD’s investigation, in conjunction with Ms. Peña’s own investigation, shows how futile a recount would be and how a traditional trial on this matter would not lead to a more accurate result. Although no party has briefed voter privacy issues, the Court doubts that a voter may be compelled to reveal in a public trial how they voted in an election given that ballots are generally secret and private.

CONCLUSIONS OF LAW

1. Pursuant to Education Code section 35143, the District is required to seat the certified winner of the election at an organizational meeting following the certification of a new Trustee election. As a result of the Respondent Elections Division’s certification of the results, the District had no choice but to seat the County-certified candidate Ms. Peña at its Board meeting on December 18, 2024.

2. “Strict rules embodied in the Elections Code govern a court’s review of a properly contested election.” *Gooch v. Hendrix* (1993) 5 Cal.4th 266, 277. “It is a primary principle of law as applied to election contests that it is the duty of the court to validate election if possible. That is to say, the election must be held valid unless plainly illegal. [Citations.]” (*Wilks v. Mouton* (1986) 42 Cal.3d 400, 404, quoting *Rideout v. City of Los Angeles* (1921) 185 Cal. 426, 430.)

3. As the California Supreme Court observed in *Gooch*:

Of competing importance, however, is the principle that, “preservation of the integrity of the election process is far more important in the long run than the resolution of any one particular election.” (*Fair v. Hernandez* (1981) 116 Cal.App.3d 868, 881 [172 Cal.Rptr. 379].) To this end, we have observed that, “The policy in favor of upholding elections appears in the cases in conjunction with the rule that ‘[t]echnical errors or irregularities arising in carrying out directory provisions *which do not affect the result* will not [void] the election.’ (*Davis v. County of Los Angeles* [(1938)] 12 Cal.2d [412,] 426 [84 P.2d 1034] (italics added [by Court in *Gooch*]); *Rideout v. City of Los Angeles, supra*, 185 Cal. at p. 430; *People v. Prewett* [(1899)] 124 Cal. [7,] 10 [56 P. 619].) Both the policy and the rule manifest the fact that ‘[c]ourts

are reluctant to defeat the fair expression of popular will in elections. . . .' (*Simpson v. City of Los Angeles* [(1953)] 40 Cal.2d [271,] 277 [253 P.2d 464]); neither has been invoked to uphold an election in the face of illegalities which affected the result--a situation in which the will of the people may be thwarted by upholding an election." (*Canales v. City of Alviso* (1970) 3 Cal.3d 118, 127 [89 Cal.Rptr. 601, 474 P.2d 417].)

4. California Elections Code section 16100 sets forth the possible grounds for an election contest as follows:

Any elector of a county, city, or of any political subdivision of either may contest any election held therein, for any of the following causes:

...

(d) That illegal votes were cast.

5. A "court's authority to invalidate an election is limited to the bases for contest specified in Elections Code section 16100." (*Friends of Sierra Madre v. City of Sierra Madre* (2001) 25 Cal.4th 165, 192.)

6. Elections Code section 16402 provides as follows with respect to the form of a contest statement:

When the reception of illegal votes is alleged as a cause of contest, it is sufficient to state generally that in one or more specified voting precincts illegal votes were given to the defendant, which, if taken from him or her, will reduce the number of his or her legal votes below the number of legal votes given to some other person for the same office.

Testimony shall not be received of any illegal votes, unless the contestant delivers to the defendant, at least three days before the trial, a written list of the number of illegal votes, and by whom given, which he or she intends to prove. No testimony may be received of any illegal votes except those that are specified in the list.

7. The contestant of the election has the burden of proving the defect in the election by clear and convincing evidence (*Smith v. Thomas* (1898) 121 Cal.533, 536.)

8. "Illegal votes are votes which have not been cast in the manner provided by law." (*Gooch v. Hendrix* (1993) 5 Cal.4th 266, 279) (citing *Bush v. Head* (1908) 154 Cal.

277, 281-282 [97 P. 512]).) Education Code Section 5030(b) requires “that one or more members residing in each trustee area be elected by the registered voters of that particular trustee area.” Further, Elections Code section 14026(b) states that “‘District-based elections’ means a method of electing members to the governing body of a political subdivision in which the candidate must reside within an election district that is a divisible part of the political subdivision and is elected only by voters residing within that election district.” Since the GUSD governing body adopted the “by-trustee” resolution in 2011, all elections have proceeded in accordance with these requirements. Votes that do not comply with these Education Code requirements are illegal votes.

9. Elections Code section 1620 provides the following standard for when a court may set aside an election on account of illegal votes:

An election shall not be set aside on account of illegal votes, unless it appears that a number of illegal votes has been given to the person whose right to the office is contested or who has been certified as having tied for first place, which, if taken from him, would reduce the number of his legal votes below the number of votes given to some other person for the same office, after deducting therefrom the illegal votes which may be shown to have been given to that other person.

10. There were up to 67 illegal votes cast in this election, although the specific number of illegal votes cannot be determined because it is impossible to determine whether all 67 people who returned ballots actually voted in this particular election. It is also impossible to determine how many illegal votes were cast for Ms. Peña and how many illegal votes were cast for Mr. Herrera.

11. If the Court were to apply Elections Code section 1620 literally, based on the evidence presented to the Court the Court could not find that it appears that a number of illegal votes has been given to Ms. Peña which, if taken from her, would reduce the number of her legal votes to below the number of votes given to Mr. Herrera, after deducting therefrom the illegal votes shown to have been given to Mr. Herrera. But as the California Supreme Court made clear in *Gooch v. Hendrix* (1993) 5 Cal.4th 266, the analysis does not end there.

12. In *Gooch*, the Supreme Court addressed the question: May an election be annulled on clear and convincing evidence of illegal voting ***when it appears the illegal votes affected the outcome of the election***, but it cannot otherwise be determined precisely for whom the illegal votes were cast? The Court held that the then-controlling statute, the predecessor to Elections Code section 1620 with identical wording, authorizes the annulment of a contested election under such circumstances. (*Gooch*, 5 Cal.4th at 269 [emphasis added].)

13. The facts and circumstances of illegal votes giving rise to the *Gooch* case are significantly different from those here, but the case is nonetheless very instructive. The

illegal votes in *Gooch* were cast by absentee voters whose ballot applications had been solicited by members of a voter education project called the Black American Political Association of California (BAPAC). When the absentee ballots arrived, the voters were encouraged to vote in the presence of the BAPAC solicitor, who would offer advice on the candidates or issues. Although it was impossible to determine for which candidates the illegal votes were cast, the Supreme Court found sufficient uncontroverted circumstantial evidence that the illegal votes had affected the outcome of the election to justify annulling all of the election results. (*Id.* at p. 285.)

14. The elections at issue in that case were among 13 seats of smaller school district boards in the Fresno area that were targeted by an organized “Voter Education Project” that implemented voter registration and absentee ballot strategies. (5 Cal.4th at 271.) The court in that case concluded that 930 illegal ballots had been cast in five school board races and as to each race the illegal ballots could have affected the outcome of the election. (5 Cal.4th at pp. 270, 276.) Because the illegal ballots had been mixed in with the legal ballots, however, it was impossible to identify them and determine if those specific ballots had actually changed the results of the election. (*Id.* at p. 276.) The court nevertheless concluded that in light of “widespread illegal voting practices that permeated the election” on behalf of the winning candidates, the election results should be set aside. (*Id.* at p. 285)

15. The trial court in *Gooch* determined that there had been fraud and tampering with respect to 93 ballots that had been disqualified by clerk’s challenge and that another 930 absentee ballots were cast in violation of the governing statutes, and were therefore illegal and could not be counted. In each of the five elections at issue in *Gooch*, between 40 and 72 percent of the votes cast in the election were illegal votes. “The percentages of illegal ballots cast in each of the five school district contests (obtained by dividing the number of illegal-but-counted . . . ballots by the total number of ballots counted in each district) were as follows: Orange Center Elementary, 70/173 40 percent; Pacific Union Elementary, 310/632 49 percent; West Fresno Elementary, 369/509 72 percent; West Park Elementary, 76/176 43 percent; and Washington Union High School, 930/2224 42 percent.” (5 Cal.4th at 276.)

16. The trial court there, as in this case, recognized it could not determine with certainty how the illegal ballots were cast, and thus could not deduct the illegal votes from the defendants to see who received a majority of lawful votes for each office. (*Id.* at 276.) The trial court, “‘after careful consideration of the competing factors,’ including ‘the wholesale violation of the mandatory requirements of the absentee voting laws in this case,’ concluded the evidence showed ***the great majority of illegal-but-counted . . . ballots were voted for the defendants***, and had been ***sufficient to affect the election of many of them***.” (*Id.* [emphasis added]) The trial court annulled the consolidated elections and ordered new elections held forthwith, concluding “[a]nything less, under these facts, would result in a loss of public respect for and diminution of the integrity of the absentee ballot process” and would “tend to encourage even greater abuse of the process in future elections.” (*Id.*)

17. The Court of Appeal found substantial evidence supported the trial court's factual findings regarding the illegal ballots, but reversed the trial court. Focusing on the

language of then section 20024, the Court of Appeal concluded the results of the consolidated elections could not be set aside because it could not be determined for whom the illegal ballots were cast. (*Id* at 277.) As the Supreme Court noted in its opinion, “[t]he irony of this conclusion was not lost on the Court of Appeal, which concluded: ‘The violations of election laws pertaining to absentee balloting in this case were pervasive and significant, yet the very nature and extent of the illegal voting renders any remedy illusory. The court is constrained by the statutory limitation on the authority to annul and set aside the election based upon illegal votes.’” (*Id.*)

18. The Supreme Court reversed the Court of Appeal. Addressing Elections Code former section 20024, which was identical to current section 16203, the Supreme Court in *Gooch* concluded, “We do not believe the Legislature intended that under circumstances such as these, where clear and convincing evidence established pervasive illegalities that permeated the election process, and where, although it cannot be determined on a vote-by-vote basis for whom the illegal votes were cast, it nonetheless ‘appears’ the illegal votes affected the outcome of the election, a trial court is without authority to annul and set aside the election results within its discretion under section 20086.” “In utilizing the phrase ‘it appears,’ we think the Legislature contemplated circumstances, such as those at hand, in which illegal votes cannot be attributed to any one candidate, but nevertheless ‘appear’ sufficient in number or effect to have altered the outcome of the election.” (*Gooch*, supra, 5 Cal.4th at pp. 282-283 construing Elec. Code, former 20024.)

19. The Court went on to explain how its interpretation of the statute is supported by its previous decision in *Canales v. City of Alviso* (1970) 3 Cal.3d 118 [89 Cal.Rptr. 601, 474 P.2d 417], in which the Supreme Court had reversed a trial court’s judgment upholding an election. The *Canales* case involved an election held to determine whether the City of Alviso should be consolidated with the City of San Jose. The election results were 189 votes in favor and 180 votes opposed to consolidation. (*Canales v. City of Alviso*, supra, 3 Cal.3d at 123-124.) Later, 21 votes were challenged by election contestants. “The trial court upheld the election after finding that ‘of the 21 challenged voters, 10 were disqualified by nonresidence in Alviso and one by virtue of a felony conviction; that of these 11 illegal votes, one was cast for and one against consolidation.’” (*Gooch*, supra, 5 Cal.4th at 283 [quoting *Canales v. City of Alviso*, supra, 3 Cal.3d at p. 125].) “The court could not, however, determine how the remaining nine illegal votes were cast. It therefore concluded the remaining nine votes should be apportioned by ‘tak[ing] half from each side--leaving a final tally of 183 1/2 votes in favor and 174 1/2 votes opposed to consolidation.’” (*Gooch*, 5 Cal.4th at 283-284) “Based on this conclusion, the trial court confirmed the election results.” (*Id.*)

20. The Supreme Court reversed the trial court’s judgment. As the Court explained in its later opinion in *Gooch*,

In reversing the [*Canales*] judgment, we acknowledged that section 20024 requires a showing that “illegal votes were sufficient in number to account for the result but also that illegal votes were

cast in such a manner as in fact to determine the result.” (*Canales v. City of Alviso*, supra, 3 Cal.3d at p. 126.) Nonetheless, after noting that the only evidence as to how the remaining nine illegal votes were cast were the signatures of the voters on the “petition by virtue of which the election was held,” we concluded such evidence, albeit circumstantial, was admissible on the question (citing *Robinson v. McAbee* (1923) 64 Cal.App. 709, 718 [222 P. 871]), that “[the] contestants met their burden as to the crucial nine votes,” and that “in the absence of any contrary evidence, the trial court erred in refusing to so find.” (*Canales*, supra, 3 Cal.3d at p. 126.)

We observed in *Canales* that, “[t]he policy in favor of upholding elections appears in the cases in conjunction with the rule that ‘[t]echnical errors or irregularities . . . which do not affect the result will not [void] the election.’ [Citations.]” (*Canales v. City of Alviso*, supra, 3 Cal.3d at p. 127 . . .) We further recognized that “neither [the policy nor the rule] has been invoked to uphold an election in the face of illegalities which affected the result--a situation in which the will of the people may be thwarted by upholding an election.” (*Id.*)

(*Gooch*, 5 Cal.4th at 284.)

21. Regarding the sufficiency of the evidence offered by the election contestants in *Canales*, the *Gooch* Court summarized its ruling in *Canales* as follows:

We rejected the respondents' claim that the election contestants' evidentiary showing, which was largely circumstantial (illegal voters had signed a petition to put the consolidation measure on the ballot), was insufficient to establish that the election had in fact been affected by the illegal votes. Opining that “a voter's signature on a petition urging that an issue be put on the ballot so that a certain result may be obtained is circumstantial evidence which is admissible to show that he in fact voted in favor of that result [Citation],” we concluded that the “[r]espondents had the same . . . opportunity to ask voters how they voted, but did not cross-examine the witnesses who testified that they signed the petition or favored consolidation to attempt to rebut [contestants'] circumstantial showing that the witnesses voted in accord with their signatures on the petition. [P] Although an elector who signed the petition may subsequently have changed his mind, respondents made no effort to show that this ever occurred in fact. As a result the record clearly contains substantial evidence tending

to show that all nine illegal votes were cast in favor of consolidation, and absolutely no evidence to the contrary. Accordingly, this judgment [confirming the election] must be reversed for lack of any evidentiary support. [Citation.]” (*Canales v. City of Alviso*, supra, 3 Cal.3d at p. 128.)

(*Gooch*, 5 Cal.4th at 284.)

22. The *Gooch* Court then compared the evidentiary showings in the trial courts in *Gooch* and *Canales*, and commented:

We are of the opinion that here, the election contestants made a much stronger circumstantial evidentiary showing that illegal votes affected the outcome of these consolidated elections than was made in *Canales*, supra, 3 Cal.3d 118. The widespread illegal voting practices that permeated this election--including fraud and tampering, the clearly established violations of sections 1006 and 1013, BAPAC's "loss" of 269 absentee ballots mailed to it by the Fresno County Clerk, the fact that nearly all of the candidates themselves, knowingly or otherwise, took part in the malconduct of "soliciting" absentee votes in violation of specific Elections Code provisions, the large percentages (40 percent to 72 percent) of illegal BAPAC absentee ballots cast and counted in each election, and the fact that all BAPAC-supported candidates won handily in each and every one of the election contests--together furnished sufficient, essentially uncontroverted circumstantial evidence in support of the conclusion that "it appear[ed]" the illegal votes affected the outcomes of the consolidated elections. (§ 20024.)

(*Gooch*, 5 Cal.4th at 284.)

23. In the present case, the evidence provided to the Court clearly establishes that illegal votes were cast in this election. There were as many as 67 illegal votes cast, though the precise number cannot be determined. The number of illegal votes is about 3.32% of the votes cast in the election (67/2016), a far smaller portion of the overall votes than in any of the five elections at issue in *Gooch*.

24. There is insufficient evidence for the Court to make any firm determination regarding how the illegal votes were cast or whether and how they affected the election. Other than the two people who informed Mr. Pierce that they voted for Ms. Peña and the one person who informed Mr. Pierce that they voted for Mr. Herrera, the Court has no way of determining how any of the other up to 64 illegal votes were cast. There is no direct or, as there was in *Canales*, circumstantial evidence, from which the Court can determine how those voters

actually voted or likely voted. In the absence of such evidence, the court is not authorized to annul the election on the basis of the illegal votes and instead must uphold the election.

25. Unlike the circumstances in *Gooch*, here there was no “wholesale violation” of election laws, or “fraud, tampering or overreaching” with respect to any ballots, and no evidence of “pervasive illegalities the permeated the election process.” (See *Gooch*, 5 Cal.4th at 281, 282.) And unlike in *Gooch*, there is no concern in the present case that upholding the election would tend to encourage abuse of the process in future elections. But such misconduct is not necessary for it to be appropriate for a court to annul an election. What matters is whether it “‘appears’ the illegal votes affected the outcome of the election,” i.e., whether the illegal votes “‘appear’ sufficient in number or effect to have altered the outcome of the election.” (See *Gooch*, 5 Cal.4th at 282-283.)

26. Unlike the trial court in *Gooch*, this Court does not have sufficient evidence from which it could find that “the great majority of illegal-but-counted” ballots, or even that a majority of the illegal-but-counted ballots, were voted for Ms. Peña. Nor is the evidence sufficient to support a finding that the illegal ballots “were sufficient to affect the election” of Ms. Peña. (See *Gooch*, 5 Cal.4th at 282.) While there were many more illegal votes (67) than the margin of the election (8), and therefore those illegal votes could possibly have affected the outcome of the election, it is impossible to determine that those illegal votes were mostly voted for Ms. Peña. Assuming all of the 67 ballots actually contained votes in this specific election, in order for those 67 votes to have affected the outcome of the election such that Ms. Peña would have fewer legal votes than Mr. Herrera, at least 38 of those 67 votes would have had to be cast for Ms. Peña (with no more than 29 going to Mr. Herrera). In that circumstance, Ms. Peña would have received 974 legal votes (1012-38=974) and Mr. Herrera would have received 975 legal votes (1004-29=975). But there is no evidence that the illegal votes were divided in that proportion, i.e., 56.7% for Ms. Peña (38/67) and 43.3% for Mr. Herrera (29/67). The overall vote before deducting the illegal ballots was split 1012 to 1004, i.e., 50.2% for Ms. Peña to 49.8% for Mr. Herrera. If the 67 illegal votes were split in the same proportion, they would have been 34 illegal votes for Ms. Peña and 33 illegal votes for Mr. Herrera, which would not alter the election result. We simply do not know, one way or another, whether or how those 67 illegal votes, which were 3.32% of the votes cast, affected the election. Thus, the Court cannot say that it “appears” that they affected the outcome any more than the Court could say definitively that they did not.

27. While the Court shares GUSD’s and the Contestant’s concerns that the illegal votes have impacted the integrity of the election, including casting some doubt as to which candidate may have actually won, and disenfranchising voters in the affected area, those concerns alone, i.e., in the absence of any evidence regarding how the illegal votes were cast, are not sufficient under the law to authorize this Court to annul the election. A competing concern is that if the Court were to annul the election that would disenfranchise all of the voters in Trustee Area C as long as that seat would be vacant since they would have no voice on the GUSD school board.

Other Procedural Issues.

Ms. Peña contends that GUSD's Second Amended Petition should be dismissed for failure to seek permission from her to do so or leave of Court before filing, and for not being properly pled as a Statement of Contest. The Court disagrees. This case began with the Petitioner GUSD filing an *ex parte* application seeking a temporary restraining order to prevent the County from certifying the results of the election. On December 5, 2024, the County moved forward to certify the election results. The *ex parte* application was heard on December 6, 2024, and denied as moot. GUSD then filed a Petition for Writ of Traditional Mandate to compel the County to perform its ministerial duties and fix its ballot-mailing error. The County claimed GUSD did not have standing to challenge the election. At that time, Ms. Peña was not yet a party. At the time of the initial filing, the information regarding the County's error in mailing out the 108 ballots to the incorrect Trustee Area of the District was developing and incomplete. Eventually, the parties focused on Elections Code sections 16100 and 16500, which require an elector or voter to challenge the results. The Petitioners and the County then adopted the view that the law required an election contest, not a writ petition, in order to remedy the situation and obtain the relief sought. To accomplish this, Petitioners filed the Second Amended Petition, and Petitioner Estrada filed her Statement of Contest of the Election. To comply with Elections Code §16400, Petitioner/Contestant Ms. Estrada and Petitioner GUSD added Respondent/Defendant Ms. Peña and Real Party in Interest Ricardo Herrera. Ms. Peña was not a party in the initial pleadings and therefore would have had no standing to object to GUSD's filing of its Second Amended Petition.

Ms. Peña also contended that she had not properly been served with process. The Court rejects this argument. Ms. Peña and her counsel appeared in court on January 14, 2025, and participated in the hearing to decide whether and when to set a hearing on the election contest, and related procedural matters. At that hearing, Ms. Peña's counsel, on her behalf, waived the requirements under Elections Code section 16501 for a citation to be issued as to Respondent Mercy Peña. The Court directed Petitioner's counsel to provide Ms. Peña's counsel copies of all filings in the case. All counsel, including Ms. Peña's attorney, agreed to the hearing and briefing schedule for the January 31, 2025, hearing on the election contest. Any arguments regarding defective service were waived.

Conclusion

For the reasons discussed herein, the Court's judgment is to confirm the election.

Judgment on the election contest aspect of this case will be entered separately.

GREENFIELD UNION SCHOOL DISTRICT VS KERN COUNTY ELECTIONS DIVISION
BCV-24-104155

CERTIFICATE OF SERVICE

The undersigned, of said Kern County, certify: That I am a Deputy Clerk of the Superior Court of the State of California, in and for the County of Kern, that I am a citizen of the United States, over 18 years of age, I reside in or am employed in the County of Kern, that I am not a party to the within action and that my business address is , that I served the **Minutes dated February 07, 2025** attached hereto on all interested parties and any respective counsel of record in the within action, following standard Court practices, by: (a) enclosing true copies thereof in a sealed envelope(s) with postage fully prepaid and depositing/placing for collection and delivery in the United States mail at Bakersfield, California; and/or (b) enclosing true copies thereof in a Kern County interoffice envelope(s) and placing for collection and delivery; and/or (c) by posting true copies thereof, to the Superior Court of California, County of Kern, Non-Criminal Case Information Portal (www.kern.courts.ca.gov); and/or (d) electronically transmitting true copies thereof by electronic service or e-mail. Service address(es) are indicated on the attached service list.

Date of Service: February 07, 2025

Place of Service: Bakersfield, CA

Sent from electronic service address: donotreply@kern.courts.ca.gov

I declare under penalty of perjury under the laws of the State of California that the foregoing is true and correct.

Tara Leal
CLERK OF THE SUPERIOR COURT

Date: February 07, 2025

By: Veronica Urena
Veronica Urena, Deputy Clerk

SERVICE LIST

STEVEN L SIMAS
SIMAS & ASSOCIATES LTD
ssimas@simasgovlaw.com

ANDREW C HAMILTON
KERN COUNTY ADMINISTRATIVE CENTER
ahamilton@kerncounty.com

RYAN KEEVER
SIMAS & ASSOCIATES LTD
rkeever@simasgovlaw.com

ROBERT H TYLER
TYLER & DORSA
btyler@faith-freedom.com

FRANCISCA HEREDIA
SIMAS & ASSOCIATES LTD
theredia@simasgovlaw.com

EXHIBIT “C”

25026 Las Brisas Road
Murrieta, California 92562

INVOICE

Invoice # 998082265
Date: 04/15/2025
Due On: 04/25/2025

Mercy Pena

Pena.Mercy/v Estrada v. Pena *AFF-25.19484

v Estrada v. Pena *AFF

Type	Attorney	Date	Notes	Quantity	Rate	Total
Service	RHT	01/10/2025	Conference call with client regarding facts of case	1.00	\$550.00	\$550.00
Service	RHT	01/10/2025	Telephone conference with co-counsel regarding research and drafting a response to writ	0.80	\$550.00	\$440.00
Service	SK	01/12/2025	Email from RH Tyler asking to review documents regarding client's claims.	0.10	\$350.00	\$35.00
Service	SK	01/12/2025	Review certificate of election regarding client's claims.	0.20	\$350.00	\$70.00
Service	SK	01/12/2025	Review declaration of the superintendent regarding client's claims.	0.60	\$350.00	\$210.00
Service	SK	01/12/2025	Review second amended petition regarding client's claims to determine whether there is a legal basis.	1.80	\$350.00	\$630.00
Service	SK	01/12/2025	Review email chain between parties and counsel regarding client's claims to determine whether there is a legal basis.	0.20	\$350.00	\$70.00
Service	SK	01/12/2025	Email to SY Kenney regarding drafting an engagement letter for client.	0.10	\$350.00	\$35.00
Service	SK	01/12/2025	Draft engagement letter compliant with RH Tyler's requests for client.	0.40	\$350.00	\$140.00
Service	SK	01/12/2025	Email from RH Tyler regarding quo warranto in the present matter, requesting research as to whether it was the exclusive method for plaintiff to make a claim such that its petition should be dismissed.	0.10	\$350.00	\$35.00

Service	SK	01/12/2025	Review research provided by RH Tyler regarding quo warranto in the present matter, requesting research as to whether it was the exclusive method for plaintiff to make a claim such that its petition should be dismissed.	0.50	\$350.00	\$175.00
Service	SK	01/12/2025	Conduct further research regarding quo-warranto in the present matter, requesting research as to whether it was the exclusive method for Plaintiff to make a claim such that its petition should be dismissed.	0.40	\$350.00	\$140.00
Service	SK	01/12/2025	Preliminary research on issue of illegal voting based on plaintiff's second amended petition to determine if there is an adequate basis to represent client.	0.90	\$350.00	\$315.00
Service	SK	01/12/2025	Review Code of Elections Chapter on election contests regarding procedure, standards, and burden for elections contest in preparation for drafting Response brief.	1.50	\$350.00	\$525.00
Service	RHT	01/12/2025	Draft email with instructions to staff	0.20	\$550.00	\$110.00
Service	RHT	01/12/2025	Perform initial review of pleadings and perform initial legal research on claims for defenses	1.80	\$550.00	\$990.00
Service	SYK	01/13/2025	Draft, revise, finalize, send for signature engagement letter, send fully executed copy to client, prepare database, draft, revise, and forward response to attorney, docket upcoming deadlines, review court website for case, confer with attorney regarding case.	2.30	\$200.00	\$460.00
Service	SYK	01/13/2025	Review, revise, finalize, convert response to second amended writ, upload and add data, e-service of same to third-party vendor, file and serve same	1.40	\$200.00	\$280.00
Service	SYK	01/13/2025	Confer with attorney regarding case status, file notice of remote hearing, file request for documents with clerk, retrieval of documents for hearing from client.	1.50	\$200.00	\$300.00
Service	JEF	01/13/2025	Strategy phone call we SE Kane regarding client's brief.	0.20	\$350.00	\$70.00

Service	JEF	01/13/2025	Review and revise opposition brief.	0.50	\$350.00	\$175.00
Service	SK	01/13/2025	Text chain with attorney B. Greenman discussing quo warranto procedure to determine if it is an adequate basis for a defense.	0.20	\$350.00	\$70.00
Service	SK	01/13/2025	Call with attorney B. Greenman discussing quo warranto procedure to determine if it is an adequate basis for a defense.	0.20	\$350.00	\$70.00
Service	SK	01/13/2025	Follow up email from B Greenman regarding quo warranto and whether we can seek relief based on it.	0.10	\$350.00	\$35.00
Service	SK	01/13/2025	Review documents provided by B Greenman on quo warranto to determine if it is a valid basis for a defense.	0.60	\$350.00	\$210.00
Service	SK	01/13/2025	Email from R. Tyler regarding news article pertaining to Ms. Pena to further understanding of factual background of the case.	0.10	\$350.00	\$35.00
Service	SK	01/13/2025	Review news article pertaining to client to further understanding of factual background of the case.	0.20	\$350.00	\$70.00
Service	SK	01/13/2025	Email correspondence with RH Tyler regarding upcoming dates.	0.10	\$350.00	\$35.00
Service	SK	01/13/2025	Email with SY Kenney to discuss procedural steps to take before deadlines.	0.10	\$350.00	\$35.00
Service	SK	01/13/2025	Zoom meeting with SY Kenney to discuss procedural requirements for case.	0.20	\$350.00	\$70.00
Service	SK	01/13/2025	Texts with RH Tyler regarding caselaw relied on by plaintiffs regarding the applicability of it to the present matter.	0.10	\$350.00	\$35.00
Service	SK	01/13/2025	Call with RH Tyler discussing strategy going forward in the case.	0.50	\$350.00	\$175.00
Service	SK	01/13/2025	Revise response in accordance with bluebook ensuring correct cites, grammar, as well as flow revising to add sections for clarity.	1.00	\$350.00	\$350.00
Service	SK	01/13/2025	Review attorney J. Fleischer edits and incorporate necessary ones to ensure clarity of arguments.	0.30	\$350.00	\$105.00

Service	SK	01/13/2025	Research in depth the cases involving illegal votes for brief to argue that illegal votes should be split evenly between candidates.	2.80	\$350.00	\$980.00
Service	SK	01/13/2025	Draft introduction and facts section response brief to plaintiff's second amended petition.	1.80	\$350.00	\$630.00
Service	SK	01/13/2025	Draft general law section response brief to plaintiff's second amended petition.	1.80	\$350.00	\$630.00
Service	RHT	01/13/2025	Call with attorney S. Kane discussing strategy going forward in the case.	0.50	\$550.00	\$275.00
Service	RHT	01/13/2025	Emails with attorney Sam Kane regarding strategy and status	0.30	\$550.00	\$165.00
Service	SYK	01/14/2025	Retrieval of documents from court clerk.	0.20	\$200.00	\$40.00
Service	SK	01/14/2025	Draft argument and conclusion sections response brief to plaintiff's second amended petition.	2.60	\$350.00	\$910.00
Service	RHT	01/14/2025	Research law on election contests	2.20	\$550.00	\$1,210.00
Service	SK	01/15/2025	Email from Plaintiff's providing their supplemental brief.	0.10	\$350.00	\$35.00
Service	SK	01/15/2025	Research standing under the elections code to respond to Plaintiff's supplemental brief.	1.10	\$350.00	\$385.00
Service	SK	01/15/2025	Review plaintiff's supplemental brief in preparation for drafting response.	1.20	\$350.00	\$420.00
Service	RHT	01/15/2025	Review response brief and edit the same, review ex parte writ briefing and declarations	2.10	\$550.00	\$1,155.00
Service	RHT	01/15/2025	Review Elections Code and prep for argument	1.30	\$550.00	\$715.00
Service	JEF	01/16/2025	Phone call with SE Kane regarding whether we can ask constituents to disclose who they voted for and whether we can request their addresses.	0.30	\$350.00	\$105.00
Service	SK	01/16/2025	Phone call with Ms. Pena regarding updates to her case.	0.10	\$350.00	\$35.00
Service	SK	01/16/2025	Follow up email with Ms. Pena client confirming next steps in the case and what our office needs from her.	0.10	\$350.00	\$35.00

Service	SK	01/16/2025	Call with RH Tyler regarding plan, including steps to take to determine who the illegal voters voted for.	0.40	\$350.00	\$140.00
Service	SK	01/16/2025	Email chain with L. Paine regarding legal methods for obtaining voter information.	0.20	\$350.00	\$70.00
Service	SK	01/16/2025	Email from RH Tyler showing the alleged illegal ballots.	0.10	\$350.00	\$35.00
Service	SK	01/16/2025	Begin researching legality of contacting voters to ask how they voted when it is alleged that the votes were illegal.	0.70	\$350.00	\$245.00
Service	SK	01/16/2025	Phone call with client discussing plans to ask voters how they voted in order to defend against Plaintiff's claims.	0.20	\$350.00	\$70.00
Service	SK	01/16/2025	Review map provided by client to determine if illegal votes were in fact cast.	0.10	\$350.00	\$35.00
Service	SK	01/16/2025	Updating call with client providing an affidavit and outline for how they should try to determine who illegal voters voted for.	0.50	\$350.00	\$175.00
Service	SK	01/16/2025	Call with RH Tyler discussing updates to the case and our defenses to the Petition.	0.40	\$350.00	\$140.00
Service	SK	01/16/2025	Communications with J Fleischer regarding case updates and strategy	0.10	\$350.00	\$35.00
Service	SK	01/16/2025	Draft affidavit to provide illegal voters if they are willing to state who they voted for, for use in defense against petition.	0.90	\$350.00	\$315.00
Service	RHT	01/16/2025	Call with S Kane regarding plan, including steps to take to determine who the illegal voters voted for.	0.40	\$550.00	\$220.00
Service	RHT	01/16/2025	Call with S Kane regarding plan, including steps to take to determine who the illegal voters voted for.	0.40	\$550.00	\$220.00
Service	JEF	01/17/2025	Communications with SE Kane regarding request for addresses; provide status update on case.	0.20	\$350.00	\$70.00
Service	JEF	01/17/2025	Review and revise declaration in support of.	0.40	\$350.00	\$140.00
Service	SK	01/17/2025	Email chain from opposing counsel	0.10	\$350.00	\$35.00

			stating that they did not believe it could turn over addresses from illegal voters or that either party contact said voters.			
Service	SK	01/17/2025	Draft response to plaintiff's claim from opposing counsel stating that it did not believe if it could turn over addresses from illegal voters or contact them.	0.30	\$350.00	\$105.00
Service	SK	01/17/2025	Research applicable cases to determine that we can get access to voter information and contact them when a voter has been alleged to have cast an illegal vote and to respond to opposing parties' emails stating the contrary.	0.30	\$350.00	\$105.00
Service	SK	01/17/2025	Email chain with client regarding meeting to discuss getting addresses of illegal voters.	0.20	\$350.00	\$70.00
Service	SK	01/17/2025	Call with individual regarding meeting to discuss getting addresses of illegal voters and facts of the case.	0.80	\$350.00	\$280.00
Service	SK	01/17/2025	Follow up email from individual who thought he may be able to help provide voting map and data related to case.	0.10	\$350.00	\$35.00
Service	SK	01/17/2025	Review attachments sent by individual who was spoken with. regarding determining how voters voted and regarding map and facts of case.	0.20	\$350.00	\$70.00
Service	SK	01/17/2025	Call with staff regarding having a discussion with individual who stated he had information regarding how votes were cast as provided by R. Tyler.	0.20	\$350.00	\$70.00
Service	SK	01/17/2025	Draft a request for voter information to present to Elections Division in compliance with section 2188.	0.80	\$350.00	\$280.00
Service	SK	01/17/2025	Research how to request for voter information from the Elections Division to determine who cast illegal votes and ask them how they voted.	0.30	\$350.00	\$105.00
Service	SK	01/20/2025	Review email from client laying forth the timeline of what pleadings she received or was served with to determine if there is a defense	0.20	\$350.00	\$70.00

regarding service or lack of jurisdiction						
Service	SK	01/20/2025	Review email from Ms. Pena which included the summary of each of the 67 voters she attempted to reach out to to determine whether illegal votes were cast for her as relevant to her defense.	0.40	\$350.00	\$140.00
Service	SK	01/20/2025	Revise Answer and Response pleading, adding in section for good faith efforts Ms. Pena took to determine who illegal votes were cast for to demonstrate that there is no indication they were more likely cast for her.	0.50	\$350.00	\$175.00
Service	SK	01/20/2025	Draft introduction to law and argument section laying forth a roadmap of the main points of arguments and introducing the law from general view.	0.60	\$350.00	\$210.00
Service	SK	01/20/2025	Research law regarding requirements to seek leave through civil procedure rules, focusing on necessity of seeking stipulation from counsel for leave of court for a second amended pleading to contest the manner in which opposing counsel failed to follow procedures and to seek dismissal on said grounds.	0.80	\$350.00	\$280.00
Service	SK	01/20/2025	Research laws, statute, and constitution regarding conducting trial on a matter of contesting an election, focusing on the burden of proof, calling witnesses, and due process minimum, in part to ensure that Ms. Pena can question voters regarding their vote.	0.70	\$350.00	\$245.00
Service	SK	01/20/2025	Draft law and argument section arguing that case must be dismissed for failure to follow procedure resulting in subsequent failure to file within statutorily prescribed time.	1.60	\$350.00	\$560.00
Service	SK	01/20/2025	Draft law and argument section, arguing in part that Plaintiff failed to demonstrate that the illegal votes were for Defendant further that it has not provided any uncontested facts such that trial or calling witnesses could be avoided without due process violations.	3.50	\$350.00	\$1,225.00

Service	JEF	01/21/2025	Review and revise supplemental brief.	1.50	\$350.00	\$525.00
Service	JEF	01/21/2025	Review and revise cite checks in supplemental brief.	0.30	\$350.00	\$105.00
Service	JEF	01/21/2025	Review and revise client's declaration.	0.30	\$350.00	\$105.00
Service	JEF	01/21/2025	Incorporate RH Tyler's edits into supplemental brief.	0.50	\$350.00	\$175.00
Service	JEF	01/21/2025	Conduct final review of supplemental brief.	0.70	\$350.00	\$245.00
Service	JEF	01/21/2025	Implement additional edits into supplemental brief.	0.30	\$350.00	\$105.00
Service	JEF	01/21/2025	Communications with SE Kane and RH Tyler regarding supplemental brief.	0.30	\$350.00	\$105.00
Service	JEF	01/21/2025	Phone call with SY Kenney regarding last minute changes.	0.20	\$350.00	\$70.00
Service	SYK	01/21/2025	Numerous conferences with attorneys regarding brief and notice of remote appearance, exhibits, format, revise, generate table of contents, table of authorities, draft, revise proof of services, convert exhibits, convert brief and notice, compile, file and serve documents.	3.20	\$200.00	\$640.00
Service	SYK	01/21/2025	Prepare filed documents for mailing, mail same.	0.50	\$200.00	\$100.00
Service	SK	01/21/2025	Research cases demonstrating history of determining how illegal votes have been determined in California including Russel, Singletary, Caneles, and Gouch for use in pleading.	1.20	\$350.00	\$420.00
Service	SK	01/21/2025	Draft law and argument section that school board cannot bring suit.	0.80	\$350.00	\$280.00
Service	SK	01/21/2025	Draft conclusion and request relief for answer and response brief.	0.40	\$350.00	\$140.00
Service	SK	01/21/2025	Draft answer section in brief.	1.40	\$350.00	\$490.00
Service	SK	01/21/2025	Review Plaintiff's writ of mandate in preparation to drafting answer.	0.30	\$350.00	\$105.00
Service	SK	01/21/2025	Review Plaintiff's Court order in preparation to drafting answer.	0.10	\$350.00	\$35.00
Service	SK	01/21/2025	Review statutes referenced in plaintiff's writ in preparation to drafting	0.20	\$350.00	\$70.00

			answer for each allegation.			
Service	SK	01/21/2025	Review plaintiff's supplemental brief to ensure that each argument and allegation was properly addressed in answer and response.	0.60	\$350.00	\$210.00
Service	SK	01/21/2025	Compile all exhibits and edit draft to ensure that all cited exhibits are cited in accordance with court rules and correctly correspond to the corrected exhibit.	0.30	\$350.00	\$105.00
Service	SK	01/21/2025	Call with E Plotnik regarding Ms. Pena's case regarding questions on election procedures	0.20	\$350.00	\$70.00
Service	SK	01/21/2025	Draft Ms. Pena's declaration for use as an exhibit to support factual allegations in Answer and its brief in support.	1.30	\$350.00	\$455.00
Service	RHT	01/21/2025	Revise answer and responsive brief, conference with co-counsel S Kane regarding strategy and revisions.	2.50	\$550.00	\$1,375.00
Service	EP	01/21/2025	Review of complaint and writ petition to determine procedural requirements for answer, including assertion of affirmative defenses and verification; conference with attorney, S. Kane regarding the same.	0.40	\$350.00	\$140.00
Service	RHT	01/21/2025	Review, analyze, and edit supplemental brief; discuss with attorney J. Fleischer	2.20	\$550.00	\$1,210.00
Service	SYK	01/22/2025	Draft, revise, finalize, file and serve order for notice of remote appearance at hearing.	0.50	\$200.00	\$100.00
Service	SK	01/22/2025	Review J. Fleischer edits on Pena motion, drafting additional section of argument, revising other arguments to ensure clarity and flow.	0.60	\$350.00	\$210.00
Service	SK	01/22/2025	Draft affirmative defenses section for inclusion with the answer.	1.20	\$350.00	\$420.00
Service	SK	01/22/2025	Email from J Fleischer regarding Pena case and providing edits for the answer.	0.10	\$350.00	\$35.00
Service	SK	01/22/2025	Email chain E Plotnik for advice discussing case and substantive affirmative defenses that are applicable given the facts of the case for inclusion in the answer.	0.10	\$350.00	\$35.00

Service	SK	01/22/2025	Review affirmative defenses list sent by E Plotnik to ensure that no applicable affirmative defenses are left off the answer.	0.30	\$350.00	\$105.00
Service	SK	01/22/2025	Review board member YouTube meetings to find discussion regarding the elections and what was said by opposing parties and the staff counsel to develop facts of the case and determine affirmative defenses.	2.00	\$350.00	\$700.00
Service	SYK	01/23/2025	Draft shell case management statement, forward to attorney.	0.20	\$200.00	\$40.00
Service	SYK	01/23/2025	Review, revise, create proof of service, finalize, compile, file and serve case management statement.	0.70	\$200.00	\$140.00
Service	SK	01/23/2025	Email chain RH Tyler asking for update regarding opposing counsels' assertions we do not have a right to addresses of illegal votes.	0.20	\$350.00	\$70.00
Service	SK	01/23/2025	Email from opposing parties about link to pleadings.	0.10	\$350.00	\$35.00
Service	RHT	01/23/2025	Draft and review case management statement	0.50	\$550.00	\$275.00
Service	EP	01/23/2025	Legal research regarding priority election contest statute in preparation for case management conference; communications with paralegal, S. Kenney and attorneys, R. Tyler and S. Kane regarding the same.	0.90	\$350.00	\$315.00
Service	SK	01/29/2025	Email chain with Ms. Pena regarding the facts of her case to establish factual basis for her defense against claims.	0.30	\$350.00	\$105.00
Service	RHT	01/31/2025	Prepare for hearing on writ reviewing briefs, statutes, and cases	3.00	\$550.00	\$1,650.00
Service	RHT	01/31/2025	Attend oral arguments; follow-up telephone conference with client and Janette Bisson	2.10	\$550.00	\$1,155.00
Service	SK	01/31/2025	Email chain with Ms. Pena further following up with factual questions regarding her case to establish factual basis for defense.	0.20	\$350.00	\$70.00
Service	SK	02/07/2025	Review Court order affirming Ms. Pena's Election to determine basis for the order to determine if further action needs to be taken and to provide Ms.	1.00	\$350.00	\$350.00

			Peña with an update regarding her case.			
Service	SK	02/07/2025	Call with RH Tyler regarding Court order affirming Ms. Pena's Election.	0.20	\$350.00	\$70.00
Service	SK	02/07/2025	Review Pena Press release to ensure accuracy of information published.	0.30	\$350.00	\$105.00
Service	RHT	02/07/2025	Review court order; follow-up with client and co-counsel regarding order and next steps in litigation	1.20	\$550.00	\$660.00
Service	SK	02/11/2025	Call from client to discuss her case providing an update and discussing the calendared case management hearing that is upcoming.	0.20	\$350.00	\$70.00
Service	SK	02/11/2025	Review court documents for answers to client's questions regarding hearing	0.20	\$350.00	\$70.00
Service	SK	02/16/2025	Email from RH Tyler requesting research on issues related to possible appeal and receiving costs and fees given successful defense.	0.10	\$350.00	\$35.00
Service	SK	02/16/2025	Research on issues related to possible appeal and receiving costs and fees given successful defense.	1.30	\$350.00	\$455.00
Service	SK	02/16/2025	Draft response email to RH Tyler on issues related to possible appeal and receiving costs and fees given successful defense.	0.30	\$350.00	\$105.00
Service	SK	02/17/2025	Email from RH Tyler regarding Judgment	0.10	\$350.00	\$35.00
Service	RHT	02/17/2025	Draft email to S. Kane regarding court order	0.20	\$550.00	\$110.00
Service	SK	02/17/2025	Review Judgment	0.10	\$350.00	\$35.00
Service	SK	02/18/2025	Email from RH Tyler regarding indemnity costs and attorney's fees.	0.10	\$350.00	\$35.00
Service	SK	02/18/2025	Research possibility of getting attorney's fees through some type of statutory indemnity.	2.10	\$350.00	\$735.00
Service	JEF	02/27/2025	Review and revise motion for costs; send back to SE Kane for review.	1.00	\$350.00	\$350.00
Service	SK	02/27/2025	Email from N. Klein regarding Peña school policies for requesting fees	0.10	\$350.00	\$35.00
Service	SK	02/27/2025	Research Peña motion for costs and fees basis, including indemnity, public	1.50	\$350.00	\$525.00

			employer indemnity, and frivolous cases.			
Service	SK	02/27/2025	Email to Ms. Pena with questions concerning costs and fees.	0.10	\$350.00	\$35.00
Service	SK	02/27/2025	Email response to Ms. Pena regarding questions and update request.	0.10	\$350.00	\$35.00
Service	SK	02/27/2025	Review briefs for history on case in preparation for drafting motion for costs and fees to lay forth which arguments were frivolous.	0.60	\$350.00	\$210.00
Service	SK	02/27/2025	Review briefs for history on case in preparation for drafting motion for costs and fees to lay forth which arguments were frivolous.	0.60	\$350.00	\$210.00
Service	SK	02/28/2025	Draft Peña motion for costs and fees basis [13 pages].	2.80	\$350.00	\$980.00
Service	SK	02/28/2025	Email response from Ms. Peña.	0.10	\$350.00	\$35.00
Service	SK	02/28/2025	Email motion for costs to J. Fleischer.	0.10	\$350.00	\$35.00
Service	SK	02/28/2025	Email from J. Fleischer with edits.	0.10	\$350.00	\$35.00
Service	SK	02/28/2025	Make edits on motion for costs and fees consistent with J. Fleischer feedback.	1.00	\$350.00	\$350.00
Service	SYK	03/03/2025	Confer with attorney regarding memorandum of costs, draft memorandum of costs, forward to attorney for review.	0.70	\$200.00	\$140.00
Service	SYK	03/03/2025	Finalize, convert, add signatures, proof of service, file, and serve memorandum of costs.	0.50	\$200.00	\$100.00
Service	JEF	03/03/2025	Review and approve memo for costs for filing.	0.10	\$350.00	\$35.00
Service	JEF	03/03/2025	Communications with SY Kenney and SE Kane regarding memo of costs.	0.30	\$350.00	\$105.00
Service	RHT	03/14/2025	Prepare and attend status conference hearing remotely; draft notes to file for future status conference and instructions to paralegal regarding appeal deadlines and motion deadlines	1.50	\$550.00	\$825.00
Service	SK	03/17/2025	Review and finalize motion for fees for Oster review.	0.60	\$350.00	\$210.00

Service	SK	03/17/2025	Email motion for attorneys fees to Oster for review.	0.10	\$350.00	\$35.00
Service	JEF	03/17/2025	Review and revise motion for costs and fees.	1.00	\$350.00	\$350.00
Service	SK	03/18/2025	Email from J. Fleischer with edits.	0.10	\$350.00	\$35.00
Service	SK	03/18/2025	Email from J. Oster regarding Peña motion for costs.	0.10	\$350.00	\$35.00
Service	SYK	04/02/2025	Confer with S Kane regarding memorandum of costs which was filed, and motion for attorneys' fees.	0.30	\$200.00	\$60.00
Service	SK	04/02/2025	S. Kenney email regarding costs associated with case.	0.10	\$350.00	\$35.00
Service	SK	04/02/2025	Review attachment from S. Kenney regarding costs.	0.20	\$350.00	\$70.00
Service	SK	04/03/2025	Ask S. Kenney for memo of costs for motion.	0.10	\$350.00	\$35.00
Service	SK	04/03/2025	Draft declaration for R. Tyler for Attorney's Fee Motion	0.30	\$350.00	\$105.00
Service	SK	04/03/2025	Revise and add to motion for fees for Attorney's costs.	0.30	\$350.00	\$105.00
Service	RHT	04/14/2025	Revise, comment and edit memo for attorneys fees	1.30	\$550.00	\$715.00
Service	RHT	04/14/2025	Edit my declaration supporting attorneys fees motion	1.10	\$550.00	\$605.00
Service	RHT	04/14/2025	Detailed review of billing entries	0.70	\$550.00	\$385.00
Service	RHT	04/15/2025	Final review and edit of attorney's fees motion	1.80	\$550.00	\$990.00
					Total	\$44,165.00

Detailed Statement of Account

Current Invoice

Invoice Number	Due On	Amount Due	Payments Received	Balance Due
998082265	04/25/2025	\$44,165.00	\$0.00	\$44,165.00
Outstanding Balance				\$44,165.00

Invoice # 998082265 - 04/15/2025

Total Amount Outstanding \$44,165.00

1 **PROOF OF SERVICE**

2 I am an employee in the County of Riverside. I am over the age of 18 years and not a party
3 to the within entitled action; my business address is 25026 Las Brisas Road, Murrieta, California
4 92562.

5 On April 15, 2025, I served a copy of the following document(s) described as
6 **DECLARATION OF ROBERT TYLER IN SUPPORT OF RESPONDENT/ DEFENDANT**
7 **MERCY PEÑA’S MOTION FOR ATTORNEYS’ FEES** on the interested party(ies) in this
8 action as follows:

9 **SEE ATTACHED SERVICE LIST**

10 **BY E-MAIL OR ELECTRONIC TRANSMISSION.** Based on a court order or an
11 agreement of the parties to accept service by e-mail or electronic transmission, I transmitted
12 copies of the above-referenced document(s) on the interested parties in this action by
electronic transmission. Said electronic transmission reported as complete and without
error.

13 **BY FACSIMILE TRANSMISSION.** Pursuant to agreement and written confirmation of
14 the parties to accept service by facsimile transmission, I transmitted copies of the above-
15 referenced document(s) on the interested parties in this action by facsimile transmission from
(951) 600-4996. A transmission report issued as complete and without error.

16 **BY UNITED STATES POSTAL SERVICE.** I am readily familiar with the practice for
17 collection and processing of correspondence for mailing and deposit on the same day in the
ordinary course of business with the United States Postal Service. Pursuant to that practice,
18 I sealed in an envelope, with postage prepaid and deposited in the ordinary course of business
with the United States Postal Service in Murrieta, California, the above-referenced
document(s).

19 **BY OVERNIGHT DELIVERY.** I enclosed the above-referenced document(s) in an
20 envelope or package provided by an overnight delivery carrier and addressed as above. I
placed the envelope or package for collection and overnight delivery at an office or a
regularly utilized drop box of the overnight delivery carrier.

21 **BY PERSONAL SERVICE.** I caused copies of the above-referenced documents to the
22 addressee(s) noted above served by process server.

23 I declare under penalty of perjury under the laws of the United States of America that the
24 foregoing is true and correct and that I am an employee in the office of a member of the bar of this
Court who directed this service.

25
26 

27 _____
Susan Y. Kenney



SERVICE LIST

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28

Steven L. Simas
Ryan M. Keever
Frances E. Heredia
7355 Morro Road, Suite 101
Atascadero, California 93422
805.547.9300
info@simasgovlaw.com (Service)
ssimas@simasgovlaw.com
rkeever@simasgovlaw.com

Marshall S. Fontes
Stephanie Virrey Gutcher
Andrew C. Hamilton
Kern County Administrative Center
1115 Truxtun Avenue, Fourth Floor
Bakersfield, California 93301
sfontes@kerncounty.com
sgutcher@kerncounty.com
ahamilton@kerncounty.com

Ricardo Herrera
5809 Canberra Avenue
Bakersfield, California 93307

